

Item #	Description	Qty.	Unit Price	Extended Price
	CAMERA HARDWARE	1		
III-CAR	4RE High Definition In-Car Video System Includes: Zero Sightline HD Front Camera Separate Back Seat Camera Integrated GPS Crash detection DVR with integrated 200GB automotive grade hard drive 16GB USB drive 4.3" touch screen remote display control panel Cabin microphone Includes VISTA WiFi Base and SMartSwitch (No Hi-Fi Wireless mic) All mounting hardware and cabling and accessories	52	\$4,495.00	\$233,740.00
	needed for installation 1-Year warranty on ALL in-car components 4RE Motorcycle Video System Includes: SD Front Camera Integrated GPS Crash detection DVR with integrated 64GB solid state drive 16GB USB drive 4.3" touch screen remote display control panel Hi-Fi Wireless microphone kit All mounting hardware and cabling and accessories needed for installation	4	\$5,295.00	\$21,180.00
	1-Year warranty on AII in-car components 4RE IN-CAR 802.11n WIRELESS KIT, 5GHz	56	\$200.00	\$11,200.00
	HD Zoom Camera Upgrade		\$200.00	\$0.00
	HD Panoramic Camera Upgrade	52	\$200.00	\$10,400.00
	Hi-Fi Wireless Microphone Kit	32	\$699.00	\$0.00
	· ·		\$033.00	70.00
INTERV	ARE Interview Room System Includes: Choice of One (1) Camera: Dome w/Integrated Mic, Pinhole w/ Separate Mic, or Covert Motion Sensor w/Separate Mic DVR with integrated 200GB hard drive 16GB USB drive 4.3" touch screen remote display control panel All mounting hardware and cabling and accessories needed for installation 1-Year warranty on Al Lin-car components	1	\$4,995.00	\$4,995.00
	Interview Room - Second Camera Optional second camera for interview room system. Can be: Dome/Integrated Mic, Pinhole w/ Separate Mic, or Covert Motion Sensor w/Separate Mic	1	\$200.00	\$200.00
BODY C	AMERA HARDWARE			
	VISTA HD Wi-Fi Wearable Camera Includes: Mounting Hardware and One (1) Year warranty on ALL components	100	\$995.00	\$99,500.00
	VISTA HD, USB Charge and Upload Docking Base	100	\$95.00	\$9,500.00
	Download Station (32-bay) Includes: 48U enclosed rack with 10U locking door, Upload Server, UPS, Network Switch, 8 -8-bay Transfer Stations, and all internal wiring.		\$13,500.00	\$0.00
		1		-



Item #	Description	Qty.	Unit Price	Extended Price
EVIDEN	ICE MANAGEMENT SOFTWARE			
	Evidence Library 4 Site License	1	\$1,000.00	\$1,000.00
	Evidence Library 4 - 4RE Device License		\$150.00	\$0.00
	Evidence Library 4 - VISTA/4RE Combo-Discount Device License Includes 1st year of Software Maintenance	57	\$75.00	\$4,275.00
	Evidence Library 4 - VISTA Device License Includes 1st year of Software Maintenance	100	\$150.00	\$15,000.00
	Redactive Redaction Software, Single Seat License, Optional	1	\$3,995.00	\$3,995.00
	Software Maintenance, REDACTIVE, 1st Year (Months 1-12)	1	\$785.00	\$785.00
	Software Maintenance, REDACTIVE, 2nd Year (Months 13-24)		\$785.00	\$0.00
	Software Maintenance, REDACTIVE, 3rd Year (Months 25-36)		\$785.00	\$0.00
	Software Maintenance, REDACTIVE, 3-Year Bundle (Months 1-36)		\$2,250.00	\$0.00
	Software Maintenance, REDACTIVE, +1 Extended Additional Year		\$785.00	\$0.00
Watch	Commander Live Video Streaming Software			
	Watch Commander Software Installation Disc w/ Case and Document		\$2,500.00	\$0.00
	Watch Commander License Fee		\$250.00	\$0.00
ON PRE	MISE VIDEO STORAGE / BACK OFFICE HARDWARE		•	·
ONTRE	Server, 4RE, 3U, 16-35 Concurrent Cars, 5CAL			
	(3U rack mount, 16 SATA hard drive bays, plus 2 X 128GB SSD 6Gbps drives for the OS Partition, SAS backplane, dual 1200W power supplies, SM X10SRI-F, Intel C612 Chipset, up to 1TB ECC 3DS RAM, PCI-E 3.0, Intel XEON E5-2620 V3 2.4 Ghz 6 Core 12 Thread, 32GB (4x8GB), 1.2 V, DDR4 PC4-1700, LSI 9361-4I 12GB RAID SAS, PCIE 3.0, Microsoft Windows Server 2012 R2 64-Bit, Microsoft SQL Server 2012 Standard (5 CALs), 3 Year full service (on-site or reimbursed) warranty.	1	\$8,850.00	\$8,850.00
	Extended Warranty, Rack Server, Full Service On-Site, 5 year (Months 37-60)	1	\$1,175.00	\$1,175.00
	Video Storage Hard Drive, 6TB	68	\$425.00	\$28,900.00
	Storage, JBOD Enclosure, 12-bay 2U, Includes SAS Cable		\$2,575.00	\$0.00
	Storage, JBOD Enclosure, 16-bay 3U, Includes SAS Cable		\$2,925.00	\$0.00
	Storage, JBOD Enclosure, 24-bay 4U, Includes SAS Cable		\$3,350.00	\$0.00
	Storage, JBOD Enclosure, 44-bay, 4U, includes SAS Cable	2	\$4,975.00	\$9,950.00
	Extended Warranty, JBOD, Full Service On-Site, 5 year (Months 37-60)	2	\$1,175.00	\$2,350.00
	Redactive Desktop Workstation Specs: Windows 10 Pro, Intel Xeon E5-2620 V4 16 Core Processor, OS/Redaction Drive – 480GB SSD, Storage Drive - 2TB HDD, 16GB RAM, Asus Bluray Writer, PNY VCQK420-PB Quadro Video Card, 3 Year Warranty	1	\$3,500.00	\$3,500.00
	Extended Warranty, Redactive Workstation, Full Service On-Site, 5 year (Months 37-60)	1	\$1,175.00	\$1,175.00
	WiFi Access Point, Configured, 802.11n, 5GHz, Sector (included PoE)	6	\$250.00	\$1,500.00
	Rimage DVD Publisher Model 6000N	1	\$12,630.00	\$12,630.00
WARRA	ANTIES AND MAINTENANCE			
	Warranty, 4RE, In-Car, 1st Year (Months 1-12)	56		Included
	Warranty, 4RE, In-Car, 2nd Year (Months 13-24)		\$100.00	\$0.00
	Warranty, 4RE, In-Car, 3rd Year (Months 25-36)		\$200.00	\$0.00



Item #	Description	Qty.	Unit Price	Extended Price
	Warranty, 4RE, In-Car, 4th Year (Months 37-48)		\$325.00	\$0.00
	Warranty, 4RE, In-Car, 5th Year (Months 49-60)		\$450.00	\$0.00
	Warranty, 4RE, 5 Year Hardware and Software Bundle		\$1,375.00	\$0.00
	VISTA Warranty, 1st Year (Months 1-12)	100		Included
	VISTA HD Wi-Fi Wearable Camera SERVICE SPARE			
	Includes: VISTA WiFi camera only for use as replacment spares. Does not inlcude any other	5		Included
	Warranty, VISTA WiFi, 3 Year No-Fault Replaces standard warranty and must be purchased up front		\$450.00	\$0.00
	Warranty, VISTA WiFi, Hardware and Software Bundle Replaces standard warranty and must be purchased up front		\$650.00	\$0.00
	Evidence Library 4 Software Maintenance, 1st Year Included in Evidence Library Device License. Basic CLOUD-SHARE: 24 Shares per Device	156		Included
	Evidence Library 4 Software Maintenance, 2nd Year			
	Basic CLOUD-SHARE: 24 Shares per Device		\$19,275.00	\$0.00
	Evidence Library 4 Software Maintenance, 3rd Year			
	Basic CLOUD-SHARE: 24 Shares per Device		\$19,275.00	\$0.00
	Evidence Library 4 Software Maintenance, 4th Year Basic CLOUD-SHARE: 24 Shares per Device		\$19,275.00	\$0.00
	Evidence Library 4 Software Maintenance, 5th Year Basic CLOUD-SHARE: 24 Shares per Device		\$19,275.00	\$0.00
IMPLEN	MENTATION SERVICES	· · · · ·	•	
	System Configuration - 1st Location Includes: Configuration services per location WG Technical Services on-site installing and configuring Evidence Library, Remote Client, and SQL database Programming all access points and available DVR units End-to-end system testing Training for: hardware end users, back office software users, and system administrators	1	\$2,500.00	\$2,500.00
	System Configuration - Additional Locations		\$1,000.00	\$0.00
	4RE System Installation, In-Car (per Unit Charge)	52	\$386.50	\$20,098.00
	4REm System Installation, Motorcycle (per Charge)	4	\$386.50	\$1,546.00
	Video System Removal (per Unit Charge)	56	\$169.00	\$9,464.00
	Interview Room Installation	1	\$500.00	\$500.00
Discour	nts and Trade-In Credits			
	Discount	100	-\$995.00	-\$99,500.00
	Trade-In for Removed In-Car and Motorcycle Systems	57	-\$1,000.00	-\$57,000.00
	Discount for JBOD and Redactive Workstation Warranties	1	-\$3,525.00	-\$3,525.00
	Discount for Rimage 6000N DVD Publisher	1	-\$5,055.00	-\$5,055.00
	EL4 Web Site License Discount	1	-\$1,000.00	-\$1,000.00
	Shipping			Included
	Estimated Sales Tax			\$0.00
SOLUTION TOTAL			TION TOTAL	\$362,798.00

OPTIONAL ITEMS				
Item #	Description	Qty.	Unit Price	Extended Price
- 11			11166	11166
1	VISTA HD 7 Port USB Hub		\$30.00	



Item #	Description	Qty.	Unit Price	Extended Price
#				Price
2	VISTA USB Charge and Upload Docking Base		\$95.00	
3	VISTA HD Chest Mount		\$50.00	
4	VISTA HD Duty Belt Clip		\$25.00	
5	VISTA HD Shirt Clip with Slider		\$40.00	
6	VISTA HD, Molle Vest Adapter Clip		\$20.00	
7	VISTA HD, Tripod Mount Base Adapter		\$35.00	
8	VISTA HD, Velcro Backing Plate		\$20.00	
9	VISTA HD, "Klick Fast" Mount Adapter		\$35.00	